W
ol

Industrial air coolers Arctigo IS

Instruction manual

ERCO0539EN 1301 c €



This Instruction Manual is to be used in combination with Alfa Laval publication ERC00537
(General installation and maintenance instructions for air coolers).

Product information
Comprehensive product information for all Alfa Laval air heat exchangers is available on www.alfalaval.com, including:

e Product leaflets

e General installation and mainenance instructions
e Instruction manuals

e Dimensional drawings

e FElectrical connections

Ceiling mounting bracket detail

M10 Stud

Washer M10 DIN 9021
M10 Lock Nut

Mounting bracket

c Use washer M10 DIN9021 when
mounting unit on the ceiling.

ERCO0539EN 1301 Alfa Laval reserves the right to change specification without prior notification

Page 2 c €



Lifting instructions

c Always use all marked lifting points

Angle between lines may not exceed 60°

min. 780

[‘l MT1 800 )\

'y
N A

min. 960
S

min. 1130

,//: - :*‘\
/4 N
j I:I MT1 800 1\ |I
A % \ y,

MTZ2 1000

T

// _-:""Q-
(( MT3 1200 \\

ERCOO0539EN 1301

Page 3

Alfa Laval reserves the right to change specification without prior notification

C€



N
o
N4

P——t

N
()
N/

P—

/N
\\‘
/N
AY
/ \
b / N
= //"“‘“n < Do"",)\\
k=
=
/
//
7o,
\
MT 4 1600 ]
)
\\qa _ ,.7‘:-"/
S == ::‘\" .
g
(e )
({ MTS 2000
| |
y Vi
A e - ;,//
P ::‘:k.
R Y
","" \:\
l|: MTE 2000 ]
W\ Y,
[ —
60"

min. 1480

ERCOO0539EN 1301

Page 4

Alfa Laval reserves the right to change specification without prior notification

C€



Electrical installation
AC MOTOR POWER SWITCH CONNECTION

Basic motor connection

L1 Lz L3

I I
S\ [TR[Tewuuz]vi]vejwi [P
| TTUTTHTTL

L1 Lz L3

I R
Ao [Krewdufuzlvilve e [pe
[ EuEDEREERY

|
|
|
|
|

Switch Y/D

J.? J-‘S J_1 111.3115 E
—= DL L N

135
PR Al

2 (4|6 (8 [10[1214[16

BE
Bl

|

2

3
GNYE

b=t L b o

-M1

(T[T Ut]uz]v [vajw] [PE

L1 L2 L3
[
[T [T ut]uz]v[vajw]
| THTTHTTH
L1 L2 L3

[ I
I E N RE R
| T

~

{N/
v/

ERCO0539EN 1301

Page 5

Alfa Laval reserves the right to change specification without prior notification

C€



Alfa Laval reserves the right to change specification without prior notification

C€

_ +CB2
_
_
_ w
| T3z bl I b s B - SY9E
‘.I‘_IW_‘_I ZWZZ MSSM 4mm4 WSSS
| Frre Z =25 EEEE 55—
_
R T N N I Il —
PR émﬁ S5 GM N
it o i i B e R el ot i R Al I Rl ol S
- I 5T . _ - I ; _
_ ._.._.._.m ._.m w._.@, __.._._.._m__m w _ ._.._._.m ._.m w._. ._.__._.__m__m w _ .—_.._.w.._.m. w._.m_ __.._._.__m._m i .._.._.._.m ._.m w._.o. ._.__._.._m__m w _ _.._.._.m ._.m. w._.m __.._._.._m.__m m
_.of*ﬁ,,qtj,_, vp_ _.om_L,P.Jl.._k,,LJ, p_ _.ow_l,,k,lJ.TL p_ Qa3 AN p_ [P A p_
_ _m _h _m alozii4)1e _ _ _m_a € |8 _._o._mf#._m _ _ _mf. _m 8 AG_M,__LAm _ _m_a_m mg._ﬁu;_mfa._m _ _ _m_r._m m_._o._mfh._m _
[ | L 111 I B I R | [ ] A O AP P I I | ] 1]
| oJz N N Lo odE b4 43
F_ H./m\_ﬂ.x T H..‘ m@qu ® q\f. v [wi P | TH TR Qxc._. mﬁ@“:ﬁ T®
M2 ™ M3 ™ Y Ma( m M5 ™
‘3 52 \ 3 ~%/53 L 54 \ o3 ~/55
N 3 N /6.82 N /6.83 N /6.4

AC MOTORS POWER CONNECTION

3-phase motors - Switch Y and D

539EN 1301

ERCOO

Page 6



AC MOTORS POWER CONNECTION

3-phase motors - Continued

_
_
_
_ w w w w TNy
_ S8%9a harfi B i B i iy
w o w I~ = I~ o o o )] T = - T
£2és EEEEC 2222 2222 sz==
| SReReR"] R Rk oo ReR e ens)
_
L4 g ———— — — — gr——————— g —————— T ——
_ w _ _ e = _ _ ¢ _ _ g = _ _ e _
1135 |79 111315 1135 |73 [1113)15 1357 9 [111315 13579 1111315 1357 9 [111315
P g g B g S e g
_ _mfmm_a._m_._im _ _ F a_m m_a_mf__:m _ _ _m als mlﬂa_mfﬁm _ _ _mf_m m_::mfﬁm _ _ _m als m_._fmfh._m _
(S B S I [ | L ] [ Y O IO I ] I N
w w ¢ w 3
- - wl & -~ - o) B y - o) B £ - @l B | - o) B

FH s [wa[PE| TH TR H.. v (Wi | | T TR
M7 M rIL .gw_. M L
- \ 2~ i/5

—/6.B6

Ut [y [welee | T =
-M10{ c._r L _m_o
/I\ /6.B7

C€

Alfa Laval reserves the right to change specification without prior notification

39EN 1301

o]

=

ERCO00
Page 7



AC MOTORS POWER CONNECTION

3-phase motors — Continued

-Q1y,

B

B

-Q3

HD4

N\ -Q3

£
a

sq L

Jiazs |

BK

-Q4 4,

40§

-

o
S5 o7 _
lagz | _
=] @=L
1 3
-Q5y Q5
am |2 am |4
5 @l
<
3

Ise
|s.e2

BK

-

57

B

-Q8

1504

=
o & |

BK

G
[

B

1]

Gio b
10 7 _
fser [
£l 5 E
3 1 3
\-Q10 N -Q10 N
4 2 4
o7 o7
@ B E
$ b3

Alfa Laval reserves the right to change specification without prior notification

ERCO0539EN 1301

C€

Page 8



—
h g

EC MOTORS POWER CONNECTION

3-phase motors

-Qip

AN
AN

L— |

GNYE

Ma-L1
Mda-L2

‘Md-L3

ONYE

M4-PE

=RLT 599

BLhoy @ od

S=== s

e
B = bt

1T T
i Ammf _ 113 [5 i i
| ‘Om_vu,\r\/ | ‘OmT,L,\). N |
i Mhm” _ Mhm” i

I N

= =

o ababol@

o e fia |

M7-L1
M7-L2
‘M7-L3
M7-PE

)
=
@

Mo-L1

‘Mg-L2

“M9-L3

GNYE |

GNYE

M3-PE

“M10-L1
M10-L2
M10-L3
M10-PE

@

GNYE

Alfa Laval reserves the right to change specification without prior notification

39EN 1301

(o]
03

ERCOO

C€

Page 9



ECMOTORS SIGNAL CONNECTION

|
|
|
|
|
|
|
|
|
|
|
|
| DI (default: remote
| start/stop)
: 0-10V signal
|
|
|
|
|
|
|
|
|
|
|

— i_ _____ + |
+ | O
x |
S | | o
& | |
= | | or—¥ "m0
o | .
% | | T | F=:/9.D2
5 Bk P
[~} i
| | 5 | =~/3.03
| | .
5 BK LI
= | | 5 19.D5
L5 |
e | | 2 =9.D5
g Bl | |
% ! | /.
| | .
| T
“m ‘ ' | g,
| | o
- | | o
na | | |
o, !y e 4
" |
. |
= |
O |
o
¥ |
|
% |
|
Vvvy A + |
BEin &
o

ERCO0539EN 1301

Page 10

Alfa Laval reserves the right to change specification without prior notification



ALY

ECMOTORS SIGNAL CONNECTION

Continued
m
Q
=
5
3
=
=
[l 50
8. B2 a
x5k
/8.B2=iy - =82
i
£
&
BE
)
&
2
5
2
g
8.pee="
8.B2—=p z
3
g
£
(i
[
m
2
5
3
=}
g
8 poe=t2 EE
8%
2B
8. B2~ = ——g3
z
i
=
£
m
2
&
2
g
/8 BaetE E}Cﬁ)
Z|Ba
.-‘8.531:'_“1——4"’ — EE
3
g
E_
T
g 2
ERCO0539EN 1301 Alfa Laval reserves the right to change specification without prior notification

Page 11



ECMOTORS SIGNAL CONNECTION

Continued
o2 B @
. BB
: -
g .
g oV
/8.B3= - %g 31"34
L == EH El
[
3
H
+24V
§ uw_|
i 5 GND
NBSE-—“— = ag o I
asss-ami—:;: gé—' Et
[
g
&
+24V
% 1-$W—|
/8B ég g‘m —
% |83 Ei
8B~ = =33
3
G
m
g
5
g o]
et g8 [®
mm-ami—:;: §§ El
3
- B
-
ERCO0539EN 1301 Alfa Laval reserves the right to change specification without prior notification

Page 12 c €



ECMOTORS SIGNAL CONNECTION

Continued
/10.Bg=22
/10.Bg=FE!
z[z[2 z[3le
-M9 Y T|G|al -M10 YT oB|
nE mE8
Operating Operating
indication indication
K1 1 Module slot K1 1 Module slot
\ \
4 Y
14 14
ECblue motor ECblue motor
L~ & L g
A i A i
g 8 D o
® ® ® @

ERCO0539EN 1301

Page 13

Alfa Laval reserves the right to change specification without prior notification



e S el
CONNECTION BOX FOR ELECTRIC DEFROST

'1_‘3"5_‘7‘_9"11_ -

| N

I—\—x AN A oPE

|24680‘12

r____________ﬁ

-

—(MM——— 9

i . .
R i R12l RIS
")PE ( ’7
NNl
|
h v

R1al -R21

PE PE
o o >
[ |

|

|

— = =9

— e — —— — ——.———n———.—+

O Orrr

o—{M[MM—»
T3
LY
¥}
o—Tmm—
1Y)
m

-R1 -R4 —R? —FHO —R13 —R16 —R19
H _PE
H L

& \_}
| |
[ [

ERCO0539EN 1301 Alfa Laval reserves the right to change specification without prior notification

Page 14 c €



Spare Parts

No Description No Description

1 Driptray 9 Terminal Box 1809

2 Mounting Feet 10 Terminal Box 1818

3 Fan 11 Isolation Switch

4 Fanring 12 Heating Mat Fanring

5 Heating Element 13 Airsockring

6 Bendcover Door 14 Shutupsock

7 0O-Ring 15 Heating Foil E5

8 Knee-PVC 16 Distributor Mounting Bracket

ERCOO0539EN 1301

Page 15

Alfa Laval reserves the right to change specification without prior notification

C€



AL
o

www.alfalaval.com




	Instruction manual Arctigo IS
	Product information
	Lifting instructions
	Electrical installation


